PSG3M-2/TXL
RITESMERES B4 . PUR — Connection cable

M8x1 9.6

LS9 J
e 41.2 50
HARHBEE B
UK P67/
e PSG3M-2/TXL ':"s c € cAa Rofts [faxs®
®E 6625562 PmD) e
BB A BEEE, M8 x 1, B a @ 4 L
- RCCEES .

HHBE 3 B Male M8, straight, 3-pin
i 2 1, CuzZn, E2 :ﬁigz ;Lg
AR E #H, TPU, BE SETE
~ W EtEm,. ENL, Th
nERF B¥, TPU, B W EAMEMME (UL 1581 FT2, IEC
TE IR /0BT 48, CuZn, 44 60332-2-2 )

- W R K AE
ElE e 05, 06Nm_ | WAEEE, HHE, PVCHLABS
HmED > 100 BRI SR : IP67. IP6IK
SRR 3 WELKE :20m
Vie)
Ripm IP67, IP69K, A ERA T S EEE
B4
SLHER @ 4.1 mm +0.20
KEKE 2m
KYIPE PUR, £
S84 G PP
KOEER 3x0.34 mm?
REL  WE 42 x 0.1 mm
KEME BN, BU, BK
BSMEE@20°C
FEBE 50 V,o/60 Voo
iR B 2000 V
s A fih = 0 i
“ ZBA > 30.5 MQ/km
IE@EE B AE 57 Q/km

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 1|3

PSG3M-2/TXL | 25-02-2025 03-25 | R B HEARHEHR



BARKE
4 BK
WAL 1R 1BN @ 38U
TR (EERLE) > 5 x0
L#¥E () > 10 x@
EH¥ER =587
FYIEE 8% 5 m/s® heeRE
BT ABRE 5m (5 m/s* i) BRI R IR SR ARE SRS
BYEBEAESRE 2m (5 mist ) (BIAEF RACW11/2016) .
BFEIRE 3.3m/s
RN + 180 °/m B
FERE (BT ) -50...+80 °C e .
FERE (B ) -25...+80 °C | ami oK
TR ( K68k ) 25...+60 °C |3 =
ANE cULus
Bt 14
TORQUE-WRENCH-SET-AS 6936170 BLANK-LABEL-FOR-CORDSETS-TEL-TXL 6936206

HA5131-0

H5131-0

WERFER ; KETEHLE0.4-1.0
Nm , B FM8 (SWO)H4ERTF , A
FM12 (SW 14)8 R F

6905404

PZ A EL KRS, M8 x 1, B
B 34, AERIFIERE , BH5|L
2551 mm, &S EEBHE/LIRRE
0.14-0.34 mm? , BRIHNE |, ¢RIER

6902700

A TS RSKIERESS , M8 x 1, B

B 34, EEIZ , B45144.0-5.0
mm, & SEEBE/ALIREE0.14-0.34

mm? , BRNE K EIERS

TEL M TXL &4t , KE : 18
mm , S : 4mm , #E : REEKE
(PC), Hits : A2, TEX%E , AR

B5133-0 6901030

Mip T EE R KERE  M8x1, B
B34, MR B AR | BY%E)
#3.5-5.0 mm , &EEEAREET
AREF0.14-0.50 mm? , BENE , &
EBES

M8x 1

H5231-0 6902800

Mg Lk FLEERR L M8x1, EH
B 3%, EETY | B45544.0-5.0
mm, &S EEBE/LHEE0.14-0.34
mm? , ERNE K 2EIRS

=20.7

M8x1 013
10 _l

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 2|3

PSG3M-2/TXL | 25-02-2025 03-25 | R B HEARHEHR



FW-PRKPM0320-SA-S-0406 100002292

HIH L RSLIERERE M8 x 1, B
3%, IRERELEERE , B
%4 0FE55mm |, LOEEBE/ELEE
400 oz = 2 A ==
[‘7 T] A AEF0.14F0.5 mm? , BRISNFE |

A SREEERT
014 —T 21329 J

©13.7

B4

R~H BE %S
LABEL-HOLDER-FLEX-PVC 100048170 ATHRREELENPVCIHEEX ( TEL
TXLFE=mRY ) ; EANKEER : &
N5mm ; R3R4 x 18 mm ; BEH
1% . 88501

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 3|3

PSG3M-2/TXL | 25-02-2025 03-25 | R B HEARHEHR



